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A circle has only one o — Wi b’;_iu.{: Q)
‘ Diameter 45 (D) Chord 75 (O) Secant er % (B) Centro Iy
W0 cvnsaans 4] dt,:_véug,udf /J ekl (@)

The arcs opposite to incongruent central angles of a circle are always o '
Tncongruent 1 # (D) Congruent f > (C) Perpendicular s+ ()  Parallel (17 (A)

The circumforence of a circle is called | \ bbb | )
Tangent 1 (D)  Segment ¥ (C) Boundary u,(B) Chord 3 (A)
Standard form of quadratic equation is | ..q__;P d;ya-J ahsbaGas | (4)
bx+c=0,b# 0 (D) ax*=0,2#0(C) a’=bx,a#0 (B) ax’+bx+c=0,a#0 (A
i + % is equal to ) : Py ;1; + % ()
@ L ) 2w
Sum of the cube roots of unity is oV ALl | ©
3M o0 -1 (8) 1 W,
Inaratio xiy, y iscalled. -ty L xiyed | D
Consequont (452 (D) Antecedent (44 (C) Proportion w4 (B) Relation ' (A)
¥ 3 =y=k then | jieloxfi| ®
u=v'k (D) u=wk (C) u=vik’ B) u=wk (A)
Partial fraction of E;_:;—(—i—;z_) arcofthe form q.(}m!(: .................. #28 #&4—2) ©)
.l o 5P O e @ e
Power set of an empty set is ' PR XN AR o p
o @ {91 ({2.{(a}} B {2} W
If A and B are disjoint sets, then AU B isequalto - ety AUB Juner 34 Bt A S| (D)
' " BUAM 0@ B® A
Sum of the deviations of the variable X from its mean is always GbH i AN fle bt LUK X 2| 2
Diffirent ¥ (D)  Same lrfi() Ome LI®B)  Zew > )
The observations that divido a data set into four equal parts are calld et S U e livasgle | (13) .
Pentile 24} (D) Percentile 24 (C) Quartile Uiz (B) Decile 2> (A
cosec’ @ —cot’ 0 = ..cueenecnn. cosec @ —cot? O = ............... 14) i
tan@ (@) 1 (€ -1 B 0o (W
Loous of a pointin a plane, equidistant from a fixed pointiscalled b0 wvvvren sy doisse B rertiiR L i | (15)
Circle »#5 (D)  Circumforence 4# (C) Diameter & (B)  Radius 1 (A)
26 (Obj) - 1st Annual 2023 SEQUENCE - 4 ( PAPER CODE -7197)




10® CLASS — 1" Annual 2023

210 = 5 (/) &
60 = A Uro) e Da K- e23 ey

Q.No.2 Write shortanswers toanySix of thefollowing ~ 2x6=12 & felz P Langetlitn 240y
Define pure quadratic equation oy latadnn G i
Writo in the stendard form  (x+7) (x~3)=-7 " G+ N&-3)=-7 Al | i
Solve using qua-dmuc formula 4x’—14 =3x 4x-14=3x ZS cJELirbdos | i
Find the discriminant 2x*~7x+ 1=0 2w -Tx+1=0 PO} | v
Evaluate w' +w" + 1 wiiwlel gead | v
Without solving,, find the sum and the product of the roots 32 +7x—11=0 et p s FES | i

Ifthoratios 3x+1:6+4x and 215 arecqual , findthevalucof x ZEpMad x Junss 2:5 ol 3x+1:6+4x - "

su= S.ﬁér}"w 2 u=3 o2 w= 811)'”\-/’1}‘;11 o ow A i
If w varies directly as v’ andw = 81 whenu =3, Findwwhenu=5

Find third proportional &b’ , a—b a0, a-b Epso WAL | i
Q.No.3 Write shortansweri toany Six of the following  2x6=12 aid...ux,ﬁ{_,m“.ucdsw 32U
ﬁnenmﬁonalﬁ-aotion é..é‘f.'(;/ubt i
Convert the fraction "LT"::SF—’ into proper fraction 2ok S oS "3;"::5"“ S| i
Define intersection of two sets 2}-:\.2 f(fd B res ii
| A={2,3,5,7}, B={3,s,s}menﬁmi AUB ’2?_-',—#‘ AUB 7 B=(3,5,8) » A={2,3,5,7} /1| iv

el X-Y 7 Y={4,8,12,...24) » X={2,4,6,..20} /I | v
IfX={2,4,6,—.20}and Y={4,8,12, .24} thenfind X-Y '

If A={0,2,4)} , B={-1,3) thenfind AXB Zrd” AXB ) B={-1,3} w A={0,2,4} fi| wi
Define class mark £/l | i
Define Harmonic mean v _ Z /G BTA | i

4,45,5,6,6,6,7,7.5,7.5,7,8,8,8,6.5,6.5,5 Zrhwb | ix
Findmode 4,4.5,5,6,6,6,7,7.5,7.5,7,8,8,8,6.5,6.5,5 ‘
Q.No.4 Write short answers toany Six of thefollowing ~ 2x6=12 247wz P Lazga flitn s A

Define Radian ;s |
Verify the identity » it:::+cos@=sec9 ?::Z'Q'OOSB = sec O Haopll i
Find‘ 0’ when £=2cem r=3.5cm £=2em r=35cm HZetadf 0’| i

|Convert 1o dogree bt |
Define projection wEL S | v
Define secant - #EuSlwlr | v
Define chord of a circle _ ZyEnless | v
g WA G? s int.S= B slA Lﬁb}kﬁ&kﬂ}f ‘?" 6| vii

Draw a circle of radius 5 cm passing through points A and B 6 cm apart
Define circum scribed circle Z bl | ix

(Z:.f'lu"») | )
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T 8x3=24 e 9 AR ezlovrd Sedtou s

NOTE: Attempt THREE questions in all But question No. 9 is compulsory

Prove that perpendicular from the centre of a circle on a chord bisects i q_.l.‘/ S S /,7;0’( el rle i S ot
| or/}
WU ;-'e.h__,u,&ﬁiélfgd;;mfuwf 2 St
Prove that the opposite angles of any quadrilateral inscribed in a circle arc supplementary

Solve the equation using quadratic formula i—t% = ‘-t:z:f = 2% éd' PEy o DTy 1L ITRRCY T o (A)-S.ﬁ‘.'dlr
q’{r)["-:—gt! a3p? + a?p? ?u:tu,uﬁ X +mx+n=0 =his ﬂ,aﬁ (®
If a , B sretherootsofequation #£x’+mx+n=0 , then find the vatue of adp? + a?p3
x -3y X+ 3z _ 3yz 7 . Y
m i X-—y—-z ﬁé{#d;ﬂd{)‘f"uﬁ%g‘(l (A)-G_,.}dly
Using theorem of: endo—dividendo Y SEE i x= 20
sing theorem o1 compon V1 x+3y e 1oz —y_z
Resolve into partial fractions . O 5. é&? Lz | (B)
P @Bx+2)(x +1)2 : (Bx+ 2)(x + 1)2
(AUB)UC = AUBUC) Z=# A={1,3,5,7,9) , B={1,4,7,10} , c={1,5,8,101 /1 | (A-7.Air
If A={1,3,5,7,9} , B={1,4,7,10} , C={1,5,8,10} thenverify (AUB) UC ¥ Au®BUC)
11500 , 12400 , 15000 , 14500 , 14800 25 il Aol d a3t (24T Jisgy | @
The salaries of five teachers in rupees are then find standard deviation 11500 , 12400 , 15000 , 14500 , 14800
1+cos @ sin 8 . 1+cos @ sinf . ! 5
Prove that = Ll e = 2 cosec O s O oh -2cosec9‘fzf-:u:9' W-8.AJiy
U [CAj=3cm ‘|BCl=4cm ‘ [AB|=6cm QWL L& balin{lp§ ABC s Ay | (B)
Escribe a circle opposite to vertex A to a triangle ABC with sides |AB|=6cm , |BCj=4cm , |CAj=3cm
-9y
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Find x inproportion 4:x :: 5:15 Zeb x L aix 515 o8| (D
o o e Zw

Theidentity (5x +4)”=25x"+40x+ 16 istrue for s Lo “Gx+4)’=25+40x+16 =L | @)

All values ofx uﬂ.’rﬂJx (C) Twovalues ofx u;gu(fx ®) Onevalueofxcal»—g(fx (7N
Three values of x uﬁ.'.! Liux D

If AC B then A—B is equal to etndsA-B jn ACB Ji| @
B-AM © @@ B® AW
Point (-~ 1,4) liesin the quadrant , = b flu(-1,4) B @
VO m@ n® 1@
A froquency polygon is a many sided ey AR SUsMELEm & 6s |
Triangle &% (D)  Square &,(C)  Rectangle J"(B) Closedfigure i (A)
Mean is affected by change in et d SLL e il | ()
Scale Fgoli(D)  Rate 24/ L3(C) Value =f(B) Place LA
L L — > cosec 45° = @
Lo vzeo o Lo
A chord passing through a centre of a circle is called q—b’lhfﬂlﬂ:LJ/ = Lt ()
Radius u‘lu(D) Clrcumference 12(C) Secant Z5i(B) Diameter S5(A)
wZ..n ................. c-Wﬁ(jLJJVééu:.ﬁ(}:pﬁubuﬁ ()]
Two tangents drawn to 8 circlo from 8 point outsido it a7 of .. i Jngth
" Triple fof (D) ‘Double t5s(C) Equal 42(B) Half id(A)
A pair of chonds of  ircle subtending two congruent central angles is Lun Rl S vsiim oS S | 10)
Congruent J1D) Overlspping /1(C) Incongruent S 2@)  Panallel $317(A)
How many tangents can be drawn from a point outside the circle ? ‘S E e Byl | (1)
. R 1 @ 4@ 3® 2 @
The number of methods to solve a quadratic equatmnare » w&.)&l.fd' SamlaGns | (12)
" 4 300 2@ 1 W
Thenatureoftherootsofequaﬁon A +bx+c=0 is detorminedby bl covrren SIS ulaxd +bxtc=0 sl | (13)
Synﬂleticdimu:mk, &(J (C) Product of the roots .} bb’u”u(B) Sum ofthe roots .+2% b’afu(A)
y Discriminant #4223/} (D)
bne PP 2 B st 2a FunSul B-x-1=0 wbleB,a fi| (1D
If a, 8 arethoroots of x*—x—1 =0 then product ofthe roots 2 &t and 2 8 is
-2 (D) 4 (© 2 B -4 A
If a:b=xty theninvertendo property is f_vr’f?.n atb=x: )7 (15)
' ol o =L @) §=-‘3<A)
a x y Yy y
y 28 (Obj) - 15t Annual 2023 SEQUENCE - 2 ( PAPER CODE - 7194 )
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Q.No.2 Write shortanswers tosny Six of the following ~ 2x6=12 &l F Lizigatlitn  24U1r

Write quadratic equation in standard form (x + 7) (x—3)=~7 G+ NG-3)=-7 @ fehilhmSablofon | i
Solvoby factorization x"—x—20=0 X-x-20=0 ESUYF0| i
Solve 2-x*=7x by quadratic formula ng’ adb""‘léﬂfﬂd;wf 2-x*=7x iii
Find the discriminant of quadratic equation 2x +3x—1 =0 b0 27432120 wblafon | v
Evaluate (1-w+w")* - debad G-wrw)| v

) 3%+ 7x-11=0 ép‘v u/"d’ bastos ﬁ“éd’ Sl Gnre vi
'Without solving , find the sum and the product of the roots of quadratic equation 3+ 7x—~11=0

Define direct proportion g!.'.y /7 J..-/u,e" vii
Find mean proportional between 20,45 Z A arcend 4520 | viii
If ac = and a=3 when b=4 find's when b=3 nb=8 feeh o bed 2 a=3sax | ix
Q.No.3 Write shortanswers toanySix of thefollowing ~ 2x6=12 & f=pz P LizgeLtdits 340y
Define proper fraction : “ gLyl e | i
Convert into proper fraction %5}1_1_ ’_‘izf‘;fs"j .itlid-'- Sl i
Define an onto function é..é' ¥ SSEIT | i
If A={2,3,5,7}, B={3,5,8)} thenfind A-B e A-B 7 B={3,5,8} s A={2,3,5,7} /i -
If X={1,4,7,9}, Y={2,4,5,9} thenfind YUX Zrd YUX 7 Y={2,4,5,9} s X={1,4,7,9} /1| v
Find a and b, if (3-2a,b-1) = (a~7,2b+5) (-2a,b-1)=(-7,26+5) ik buia| wi
Define median Zoy sk | i
Find mode ' 4,45,5,6,6,6,7,7.5,75,8,8,8,6,5,6.5,7 Zeol | vili
For the following data find the harmonic mean et ST AL Lairdstn | ix

X 12 5 8 4

Q.No.4 Write shortanswers toany Six of thefollowing  2x6=12 &5/ e Lz geiditn 4 AUy

How many minutes are there in two right angles ? S I LU A i
Convert 2?1’ into degree oL/ 2-3—" | i
Find £ , when 0= 60°30’ , r= 15mm # r=15 KU 0=60°30" Fafpb o | il

Prove that fci;—‘;z—g+cose=sec6 s:—::—g+c059=sec6 S| v
Define right angle Z S| v
Define tangent to a circle o /‘7&/ Wl | vi
Define sector of the circle : | wE yPEEL | i
Define escribed circle Zy hondle | vii
G LI sz s LW G n | ix

Write down the formula for finding the angle subtended by the side of a n-sided polygon at the centre of the circle

(’d:' I JJJ)
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NOTE: Attempt THREE questions in all But question No. 9 is compulsory

Solve the equation VX + 3 = 3x-1 i‘}’f VX + 3 =3x~1 bl

Provethat x* +y’ = (x + y) (x + wy) (x + why) CHy’= GHy)a+wp)x+wy) SZab

(INTPA

(8)

4a-9b 4¢-9d
=
4a+9b 4¢+9d

c’ﬁ::r.b‘?x(a,b,c.dat 0) a:b:iic:d fl

s

4a—-9b _ 4¢-9d
4a+9b  4c+9d

If atb::icid (a,b,c,d # 0) thenshow that

) . . x-11 x—11
Resolve into partial fraction Ry gkkl?utu,/ d’z‘f (x~4)(x—3)

A)-67Jir

(8)

(ANB)'=A' UB' 2l Mt} A=(1,3,5,7,904 B={2,3,5,7} , U={1,2,3,4,5,6,7,8,9,10} /i
If U={1,2,3,4,5,6,7,8,9,10}, A={1,3,5,7,9}, B={2,3,5,7) then verify De-Morgan's Law (ANB)'=A’ UB'

Find the standard deviation *S” ofset 12,6,7,3,15,10,18,5 12,6,7,3,15,10,18,5 JtAf4as S ” g{p’"

(INS N

®)

Verify the identity (tan 6 + cot 0) tan 0 = sec’ 0 (tzn 8 + cotO) tan 6 = sec’ @ St Sl

n(' 5 JHJ&’ ﬁ‘f.‘ﬂ,.é’g,bu/'bu“ ¥ ABC &AL UYi(Ssle
Inscribe a circle in an equilateral triangle ABC with each side of length 5 cm

(INT N

(8)

G- (5 WL S S (s 52) 42-0’( el ple iy St
Prove that a straight line drawn from the centre of a circle to bisect a chord (which is not a diameter) is perpendicular to the chord
or/}

Ly ﬂk’ -yuAmLJ.gd;juJuuf J7 g».:d‘
< | Prove that the opposite angles of any quadrilateral inscribed in a circle are supplementary

94Uy
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